EARAROBEEIERT — 2 N— IBISH —F

20135108240 (k) 15EIEMH5H

B C2 Y5%3m L B R
[A&4£] 1% :300,000” ~ 2#&:54,000” ~ 33%&:27,000”  43&:1500 M 53 :9,000 8
& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
N — . _q_1_ _ FHAERE
1 3| A FNIIOR 4 3 ;l;_qa% 1.(4_9).4 1-1-1-1 | 37.7 1 513 %2152 ()
L A—URA A B IALINALT T W B 0y krr—n
4 3 | TRE 1:49.8 2-2-2-2 |37.8| — 3 458 | BEAR(EE (FEf)
215|5 /7= 54.0 (2 1/2) (+o) | BREBFIRY
L:79%t% B:FvFo)—J BREB 45
- it 3 | HRAEBRE 1:51.1 7-7-3-3 [38.2| — 2 531 | BB (FE)
31| Y¥H-I 55.0 ®) (+11) | EBAIF—ER
A N—3ITAR—L BRHITTRT TS
3 i # o4 | JIRE— 1:52.2 8-8-7-7 |38.4| — 4 445 | FEAISFE (ER)
AW 4| A—RIKA T 56.0 ) 1) | W) F—-23
LY by THY BANYLALZZ— J—H Ty — I
oy R 4 3 | KSAER 1:52.3 3-3-4-4 |40.0| — 7 479 | BRAER3A (FEHR)
5 2| 17T KT RY 56.0 (5 €) (-1) | EAIH—ER
LT RIAYT2E2 B:FR/Trq4> aiE B
s ArIE :52. —4-4- . - A (EM)
N B S e | e ol - o | | moRg
RTSATLREA L BRI HILTI—< FHEHS
. N HERME : ~5-6- - E2F (EMA
707l 7| Fra—-ve> 44 o 1.(55.4 5-5-6-6 | 40.7 9 (4;0) manT
Z:va7x B aunNiLvT B=iie]
o XEE : —~6-8- - hiFiE (ER)
glglo| ¥R/ bLYr— 3 s (11.533/.47) 6-6-8-8 | 40.3 5 51_510) i
ST =TT b BTz TF -0 I =52Fp=bh
N R LFFE5A :55. -9-9- . — FUSIERE (FEiH)
ol7lg|1T—71ERT (- o9 7 (175;55) 9-9-9-9 | 40.6 8 :1_435) Ik
L:T7AVHRX B ATV T TUT 4 BH BB
s 4 | Ufets 2:04.5 10-10-10-10| 44.7 | — 10 | 483 | =EME (k)
10/810] /MM £52.0 (514) G |wEEe
:d—IWKR7Ya—)b B:7>YzAT7=— EBRT7— L
® 1—F—@EBIERL
1T=7r= 3,5,2,6,7,9,1,4,8,10
23— — 3,5,2,6,7,9,1,4,8,10
Ja=5= 3,5,1,(2,6),7,4,9,8,10
43—+ — 3,5,1,2,6,7,4,9,8,10
[ N5
B 3 1909 714K 3-5 190M e E 3-5 380M JEE 1-3-5 350F9
B B 3 110H 1-3 150H B = B 320M JEE 3-5-1 1,210
5 1004 1-5 260M B H 3-5 580M
1 1509

ABICOVWTRDTEEERROODE. TR LIV,




